l LZE;;E

e
J  MLb5X4

embed nut-m2

nut-M2

I ShERHEAMR X12 RE4 A E 5
You can lock the hood by NLJ-M2X12.

NLI-M2x12-"~

s —

B: @HARHRCAMTAL, 2AHFHETH
Tt HIFRAKIAR, HARKARTREL.

NLI-M2X16 -
\ nut-M2—_+1"
I NLI-M2X16-

| M2

Notice the lengths of this two |
diagonal bars, they are differentl
,as shown in the figure.

(
|
[
[
[
(

[

STEP 04

FBALTRMEOFEH
Finish part F after step 04



